\* Shaded Area Indicates High Bidder

Switchback Aspen Lump Sum Advertised # 1 Attendees:

Pat Smith

Tyler Wood (phone) Mary Podnar

Size: 113 acres

Time & Date of Opening: 9:00AM 11/11/2020 Mary Podnar

Contract Length: 2 year

Location: Florence Resource Center

5617 Forestry Drive

Florence, WI 54121

			MINII	MUM BID	Sha	mco, Inc		nerick gging		
Products	Volume		Bid	Value	Bid	Value	Bid	Value	Bid	Value
Aspen Pulp	2000	CDS	\$29.80	\$59,600.00	\$33.01	\$66,020.00	\$28.00	\$56,000.00		\$0.00
Mixed Hdwd pulp	330	CDS	\$25.50	\$8,415.00	\$28.10	\$9,273.00	\$22.00	\$7,260.00		\$0.00
Fir Pulp	200	CDS	\$14.50	\$2,900.00	\$20.10	\$4,020.00	\$15.00	\$3,000.00		\$0.00
TOTAL	2530	CDS		\$70,915.00	Total	\$79,313.00	Total	\$66,260.00	Total	\$0.00
	0	MRF			10% -	\$7 931 30	10% –	\$6,626,00	10% -	\$0.00

\* Shaded Area Indicates High Bidder

**Stallone Hardwoods** Scale Sale Advertised # 2 Attendees:

Pat Smith

Tyler Wood (phone) Mary Podnar

Time & Date of Opening: 9:00AM 11/11/2020 Size: 208 acres Contract Length: 2 year

Location: Florence Resource Center

5617 Forestry Drive

Florence, WI 54121

#### **BELOW MINIMUM**

			MININ	IUM BID		n Logging Dany LLC				
Products	Volu	ıme	Bid	Value	Bid	Value		Value	Bid	Value
Mixed Hdwd Pulp	925	CDS	\$25.50	\$23,587.50	\$25.00	\$23,125.00		\$0.00		\$0.00
Basswood Pulp	240	CDS	\$11.50	\$2,760.00	\$7.00	\$1,680.00		\$0.00		\$0.00
Aspen Pulp	55	CDS	\$29.80	\$1,639.00	\$15.00	\$825.00		\$0.00		\$0.00
Fir Pulp	40	CDS	\$14.60	\$584.00	\$10.00	\$400.00		\$0.00		\$0.00
Mixed Hdwd Logs	100	MBF	\$187.00	\$18,700.00	\$140.00	\$14,000.00				
Basswood Logs	85	MBF	\$170.00	\$14,450.00	\$140.00	\$11,900.00				
Sugar Maple Logs	35	MBF	\$230.00	\$8,050.00	\$300.00	\$10,500.00				
Oak Logs	10	MBF	\$199.00	\$1,990.00	\$240.00	\$2,400.00		\$0.00		\$0.00
TOTAL	1260	CDS	Total	\$71,760.50	Total	\$64,830.00	Total	\$0.00	Total	\$0.00
	230	MBF			10% =	\$ 6,483.00	10% =	\$ -	10% =	\$ -

**BELOW MINIMUM** 

\* Shaded Area Indicates High Bidder

Sandhill Hardwoods Scale Sale Advertised # 3 Attendees:

Pat Smith

Tyler Wood (phone) Mary Podnar

Size: 139 ACRES
Time & Date of Opening: 9:00AM 11/11/2020
Contract Length: 2 year
Location: Florence Resource Center

5617 Forestry Drive Florence, WI 54121

			MINIMUM BID			Briarton Logging Company LLC			Pyrcz Lo	gging LLC		
Products	Volume		Bid Value			Bid	Value			Value		Value
Mixed Hdwd Pulp	550	CDS	\$ 25.50	\$14,025.00	\$	18.00	\$9,900.00	\$	15.45	\$8,497.50		\$0.00
White Ash Pulp	30	CDS	\$ 25.50	\$765.00	\$	25.00	\$750.00	\$	15.45	\$463.50		\$0.00
Aspen Pulp	230	CDS	\$ 29.80	\$6,854.00	\$	15.00	\$3,450.00	\$	15.45	\$3,553.50		\$0.00
Fir Pulp	10	CDS	\$ 14.60	\$146.00	\$	10.00	\$100.00	\$	15.45	\$154.50		
Mixed Hdwd Logs	65	MBF	\$ 187.00	\$12,155.00	\$	240.00	\$15,600.00	\$	100.00	\$6,500.00		
White Ash Logs	85	MBF	\$ 187.00	\$15,895.00	\$	230.00	\$19,550.00	\$	100.00	\$8,500.00		
Basswood Logs	240	MBF	\$ 170.00	\$40,800.00	\$	180.00	\$43,200.00	\$	100.00	\$24,000.00		
Totals	820	CDS	Total	\$90,640.00		Total	\$92,550.00		Total	\$51,669.00	Total	\$0.00
	390	MBF				10% =	\$9,255.00		10% =	\$5,166.90	10% =	\$0.00

Error on totals of logs and

total bid.

\* Shaded Area Indicates High Bidder

NO BID

**JOHNSONS CAMP RD PINE Scale Sale** Advertised # 4 Attendees: Pat Smith

> Size: 49 acres Time & Date of Opening: 9:00AM 11/11/2020 Contract Length: 2 year

Mary Podnar

Tyler Wood (phone)

**Location:** Florence Resource Center 5617 Forestry Drive

Florence, WI 54121

			MININ	NUM BID						
Products	Volu	me	Bid	Value	Bid	Value		Value		Value
Red Pine Pulp	230	CDS	\$ 36.60	\$8,418.00		\$0.00		\$0.00		\$0.00
Aspen pulp	210	CDS	\$ 25.60	\$5,376.00		\$0.00		\$0.00		\$0.00
Jack Pine Pulp	30	CDS	\$ 25.50	\$765.00		\$0.00		\$0.00		\$0.00
Oak Pulp	30	CDS	\$ 12.80	\$384.00		\$0.00		\$0.00		\$0.00
Mixed hdwd pulp	20	CDS	\$ 25.50	\$510.00		\$0.00		\$0.00		\$0.00
Fir Pulp	20	CDS	\$ 17.00	\$340.00		\$0.00		\$0.00		\$0.00
Totals	540	CDS	Total	\$15,793.00	Total	\$0.00	Total	\$0.00	Total	\$0.00
					10%=	\$0.00	10%=	\$0.00	10%=	\$0.00

## 2020 Fall TIMBER SALES - FLORENCE COUNTY

Sale #	Sale Name	Contractor	Mi	inimum Bid	High Bid
1	Switchback Aspen	Shamco Inc	\$	70,915.00	\$ 79,313.00
2	Stallone Hardwoods	Below Minimum Bid	\$	71,760.50	
3	Sandhill Hardwoods	Briarton Logging Company LLC	\$	90,640.00	\$ 92,550.00
4	Johnsons Camp Pine	No Bid	\$	15,793.00	
	Total		\$	249,108.50	\$ 171,863.00